30.3.09

₩, 55, 59, 63, 69, 73, 77, 85

55)
$$\int \frac{dx}{\sqrt{x'}(\sqrt[3]{x'+1})^3} = \left| \begin{array}{c} u = x^{\frac{1}{3}} \\ du = \frac{1}{3}x^{-\frac{2}{3}} \\ dx = \frac{1}{3u^2} \\ dx \end{array} \right|$$

$$= \int \frac{1}{u^{\frac{3}{2}} (u+1)^{3}} du$$

= $3 \int \frac{\sqrt{u}}{(u+1)^{3}} du$
= $\left| \frac{\sqrt{u}}{(u+1)^{3}} = g(x) \right|$
= $\left| \frac{1}{(u+1)^{3}} = f'(x) \right|$

$$= 3\left(-\frac{\sqrt{u}}{2(u+1)^{2}}+\int\frac{du}{2(u+1)^{2}\cdot 2\sqrt{u}}\right)+c$$
$$= \frac{3}{2}\left(-\frac{\sqrt{u}}{(u+1)^{2}}+\frac{1}{2}\int\frac{du}{(u+1)^{2}\sqrt{u}}\right)+c =: (A)$$

$$\int \frac{du}{(u+1)^2 \sqrt{u}} = \begin{vmatrix} 4 = \frac{1}{0+1} \\ dd = -4^2 du \end{vmatrix}$$

$$\int \frac{4^{2}}{-4^{2}} \sqrt{\frac{4}{1-4}} d4 = -\int \frac{\sqrt{4}}{\sqrt{1-4^{2}}} d4$$
$$= \left| \frac{y}{y} = \sqrt{1-4} \right| \\ \frac{dy}{dy} = -\frac{1}{2y} \right|$$

$$= \int \frac{2y\sqrt{1-y^2}}{y} \, dy = 2 \int \sqrt{1-y^2} \, dy =: \mathfrak{E}$$

2. Heimide - Answerz: $\int \sqrt{1-y^2} \, dy = (q_0 + q_1 y) \sqrt{1-y^2} + R \int \frac{dy}{\sqrt{1-y^2}} + C$ Keeff. - Vgl.: $1-y^2 = q_1(1-y^2) + (q_0 + q_1 y)y + R$

=> 190=0, 191= R= -12

$$\Rightarrow \textcircled{*} = y\sqrt{1-y^{2}} + \int \frac{dy}{\sqrt{1-y^{2}}} + c$$

$$\Rightarrow \sqrt{1-4}\sqrt{4} + \operatorname{oresin} \sqrt{1-4} + c$$

$$= \sqrt{(1-4)4} + \operatorname{oredion} \sqrt{\frac{1-4}{4}} + c$$

$$= \sqrt{(1-4)4} + \operatorname{oredion} \sqrt{\frac{1-4}{4}} + c$$

$$= \sqrt{(1-\frac{1}{0+1})\frac{1}{0+1}} + \operatorname{oredion} \sqrt{\frac{(0-1)}{(0-1)}} + c$$

$$= \frac{\sqrt{1}}{1+1} + \operatorname{oredion} \sqrt{1-4} + c$$

$$= \frac{\sqrt{1}}{1+1} + \operatorname{oredion} \sqrt{1-4} + c$$

$$= \frac{\sqrt{1}}{1+1} + \operatorname{oredion} \sqrt{1-4} + c$$

$$= \frac{3\sqrt{u}(u-1)}{4(u+1)^2} + \frac{3}{4} \text{ ouchon } \sqrt{u} + e$$

$$= \frac{34 \times (3 \times -1)}{4(3 \times +1)^2} + \frac{3}{4} \text{ orden } + c$$

$$\int \frac{dx}{\sqrt[3]{\sin^4 x \cos^2 x^2}} = \left| \frac{4 \cos x}{(1+4^2) \sin^2 x \cos^2 x^2} \right|^{-1}$$

$$= \int \frac{d4}{\sqrt[3]{\frac{4^{4}}{(1+4^{2})^{2}} \cdot \frac{1}{(1+4^{2})}}} (1+4^{2})$$

$$= \int \frac{d4}{\sqrt[3]{4^{4}}} = \left| u = 4^{-\frac{1}{3}} \\ du = -\frac{1}{3} 4^{-\frac{4}{3}} \\ du = -\frac{1}{3$$

٩ S.S.

$$\begin{aligned} 63) \int \frac{\sqrt[4]{x^{2}}}{\sqrt[4]{(2x^{4}+1)^{2}}} dx = \begin{vmatrix} \frac{x}{2} + \sqrt{2}x \\ dx = \sqrt{2} \sqrt{2} dx \end{vmatrix} \\ &= \int \frac{\left(\frac{x}{(2^{2}+1)^{2}}\right)^{\frac{3}{2}}}{\left(\frac{x}{(2^{2}+1)^{2}}\right)^{\frac{3}{2}}} dx \\ &= \frac{4\sqrt{2}}{2} \int \frac{x}{(\frac{x}{(2^{2}+1)^{2}}} dx \\ &= \frac{4\sqrt{2}}{2} \int \sqrt[4]{\left(\frac{x}{(2^{2}+1)^{2}}\right)^{\frac{3}{2}}} dx \\ &= \frac{4\sqrt{2}}{2} \int \sqrt[4]{\left(\frac{x}{(2^{2}+1)^{2}}\right)^{\frac{3}{2}}} dx \\ &= \frac{\sqrt{2}}{2} \int \sqrt[4]{\left(\frac{x}{(x^{2}+1)^{2}}\right)^{\frac{3}{2}}} dx \\ &= \frac{\sqrt{2}}{2} \int \sqrt{x} \frac{x}{(x^{3})^{\frac{3}{2}}} \frac{1}{(1-x \cos k + 4)} dx \\ &= \frac{\sqrt{2}}{3} \int \frac{x^{\frac{3}{2}}}{(1-x \cos^{\frac{3}{2}})} dx \\ &= \frac{\sqrt{2}}{3} \int \frac{x^{\frac{3}{2}}}{(1-x \cos^{\frac{3}{2}})} dx \\ &= \frac{2\sqrt{2}}{3} \int \frac{x^{\frac{3}{2}}}{(1-x \cos^{\frac{3}{2}})} dx \\ &= \frac{2\sqrt{2}}{\sqrt{2}} \int \frac{\sqrt{2}}{\sqrt{x}} \frac{x}{(x^{\frac{3}{2}})^{\frac{3}{2}}} dx \\ &= 2\sqrt{2} \int \frac{\sqrt{2}}{\sqrt{x}} \int \frac{x^{\frac{3}{2}}}{(1-x \cos^{\frac{3}{2}})} dx \\ &= 2\sqrt{2} \sqrt{2} \int \frac{\sqrt{2}}{\sqrt{x}} \frac{x}{(x^{\frac{3}{2}})^{\frac{3}{2}}} dx \\ &= 2\sqrt{2} \sqrt{2} \int \frac{\sqrt{2}}{\sqrt{x}} \frac{x}{(x^{\frac{3}{2})^{\frac{3}{2}}}} dx \end{aligned}$$

$$\begin{array}{l} 69) \int \frac{(2x+1) \, dx}{(3x^{4} + iy + iy) \sqrt{x^{2} + 6x - 1}} &=: \textcircled{(x)} \\ x = \frac{i(4+v)}{4+1} \\ x^{2} + \frac{iy}{3} x + \frac{iy}{3} &= \frac{(\mu (4+v)^{2} + \frac{iy}{3} (\mu (4+v) (4+1))^{2} + \frac{iy}{3} (4+1)^{2}}{(4+1)^{2}} \\ x^{2} + 6x - 1 &= \frac{(\mu (4+v)^{2} + \frac{iy}{3} (\mu + v) + \frac{iy}{3} = 0}{(4+1)^{2}} \\ g_{indel} 1: \quad 2\mu v + \frac{iy}{3} (\mu + v) + \frac{iy}{3} = 0 \\ 2\mu v + 6 (\mu + v) - 2 = 0 \\ \end{pmatrix} \Rightarrow \mu^{2} 2, v = -1 \\ \Rightarrow \textcircled{(x)} = \left| x = \frac{24-1}{4+1} \\ dx = \frac{3}{4} \cdot \int \frac{44-2i4+i}{(4i+1)^{2}} + \frac{84-i}{4i+1} + \frac{10}{4i+1} + \frac{104-6}{4i+1} + \frac{104-6}{4i+1} + \frac{104}{4i+1} + \frac{104$$

$$= \frac{1}{2} \int \frac{1}{y_{g}^{2}} \frac{1}{\sqrt{21 - \frac{2}{y_{g}}}} \left(-\frac{1}{y_{g}^{2}}\right) dy$$

$$= -\frac{1}{2} \int \frac{dy}{\sqrt{y_{g}^{2}(21 - \frac{2}{y_{g}})}} = -\frac{1}{2} \int \frac{dy}{\sqrt{21y^{2} - 2y_{g}}}$$

weider mit 2. Hermite Ansode

$$\int \frac{dx}{(x^{2}+8)} \sqrt{-2x^{2}x^{2}x^{2}} = \left| \begin{array}{c} u^{2} = -2 + \frac{5}{x^{2}} \\ 2u \, du = -\frac{40}{x^{2}} \, dx \right|$$

$$= \int \frac{2u \sqrt{(\frac{1}{x^{2}x^{2}})^{3}}}{(\frac{1}{x^{2}+2} + 8)} \sqrt{-2} \frac{1}{y^{2}x^{2}} + 5 (-40) \, du$$

$$= \int \frac{2u \sqrt{(\frac{1}{x^{2}x^{2}})^{3}}}{(\frac{1}{x^{2}+2})} \frac{du}{\sqrt{\frac{1}{x^{2}x^{2}}}} (-40) \left(\frac{1}{x^{2}} \right)$$

$$= \int \frac{du}{(\frac{1}{x^{2}+2})} \sqrt{\frac{1}{x^{2}x^{2}}} (-40) \left(-\frac{1}{x^{2}} \right)$$

$$= \int \frac{du}{(x^{2}+3)} \sqrt{-2y^{2}x^{3}} = -\frac{4}{2} \int \frac{du}{\sqrt{24y^{2}-2y^{2}}} - \int \frac{du}{8u^{2}+2t}$$

$$= \int \frac{du}{8u^{2}+2t}$$